BREELGLUICTDHEHE

o =
EREDHE
® & #96,707km* (T BZ & D)
A 0O 671,602F A (5F124510R)
850 269,317 F & (FF125E108)
HBDBE SR h B
m & 79.1km? 86.2km?
SKmiE 1,318km? 2,030km?
BrkE 3.6fEm° 4.7{Em°
=RIKE 6.0m 84m (AN T RIKIEH X EFALY)
KR 4.5m 54m
4 IK L H.P.40.4m H.P.4+0.3m
SREHIX, BEEERICHETA2RANT, RE|TEIL. BIRELERBEICE-ALIERAMT. K
MALEST BALCBEORDELTEN-REE (LUEKEILAREEELTHREGEREHEZ OV
KYFELTWWET, LTLVET,
FREHIE, KEINZENLTHEEELRSIAR [REXREHERRISRKBATTH., HAKEE
e RIS /KEELTRONTEY, DEEXICHE |[ALTEEREBEDLEA-DTNSIO, REMICH
+ 4 WihZBET 51 BANNERIKRO T REEE| R TEDBRERESH>TVET,
BLTWWET, ERRITEI1H8H. RETHREMERKIZT LA
ERITEIASH, ntET5hEER(ICTLY— |[—ILEHNIZEFIhEL=,
JLEHIZEFINZELT-,
ERBEDOT/KEIL. SIT2EERAT2UERMNSTLREMTE T/KELSLERD AL TKE.
BUEBEROEEREREAETKENEEERREFHOIWVIEAF LG >TNET , REHM-HED
TAKEBEEZDOME |RETH. REMRETKEZDDELTR2UERNEEERFERHAWNIEAP T BMEEILTO
EBYTT  GHE. BREDFKLEBAOTRELX, ST2EERT2.04TEEHICERKXKEGENT
WFE7,
SREHRE T KE P
e spanthy | FHEERRRS
HERALIE X FERRALIE X BATKE
ERNOMEROP TR |[HEHR WIH(ARE [SELER (M) [[I8.EI BELER
PIRENARECWIH |EDFNEREEL, T £ FABAA H234 ;I
(IBREETER). BE [RTE1ArotA%6 | Z#EEE69.2% {2 FARAYS:H1.7. H4.4, HO 4
hENEXEEL, B [38LEL=, ASEIEE |[AX-ZTTELER EEE:100%
EMER . 564 A AERR |V A—ITHET KRR [((ERETH) FILANEX NI
Nit g |LF T REBRE LY |=HY. BREARIE | PR HI14 ARG : H23.4
,T;;gf;;{{% R o HTARETC [RLTOET, WERS | B 1004 R 100%
AT |BY MEREAAD (\NAOEIATA, Bff | RERLEX(RHEZA) (50502 X (ERT)
BRI PKED |3180F A, BERTS |RIESEERT HEFRANR H12.4 £ FBA1R : H6.10
BE  lEmEcsrsnitio [69.0%>TOET, | B 93.4% (B 100%
TWEY, REMNEX(ERTH)
£ FARBAE H18.10
(B 875%
= R ALER X (B HY 2 HT)
L FABALA H104
EE R 98.6%
BEOUNEAETHIZEFTEFRETIE. RIMETEME (X% LRETEETA. EXEIL
[ DITLERBBEROIFA0WEELNRETEEREA,. TIT. REMREBE T /KERSBULEX TIL,
X ZRVIUOBREZENEL-EENEBEZEREENSHIBEL, SHICUVBREDRELLEBER
EExR 5012, ERR)EEFEZERL., FTRI0CENMSEELTLVET,




OREH-HBOETEKEEBDEMF

7.0 )| ——rhig 0.80 b thifg
ot CODDEFEIL o RERT-NORELIE
0.70
0.60
0.50
0.40
30 IRIRE#E=04mg/ 1}
IRIERE=3.0mg/ !} 0.30 |
2.0
0.20
1.0 0.10
(£E (FE
0.0 ' ' : 0.00
H25 H26 H27 H28 H29 H30 R1 H25 H26 H27 H28 H29 H30 R1
0.080 (g7 == rhitg
—o— i 2 (T-P)OREEIL
0.070
0.060
0.050
0.040 |
0.030 :
IRIE R =003mg/ {7
0.020
0.010
(FEE
0.000 : :
H25 H26 H27 H28 H29 H30 R1




